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A certain number of persons are sitting in the row. All of them are facing 

towards north. Q sits sixth from the right of S. T sits forth to left of Q. Only 

two persons sit between Q and P. R sits forth to the left of S. U sits between 

S and T. V sits second to the right of U. W is third from any of the end. S is 

eight from the left end of the row. Six persons sit between W and V.

एक निनित संख्या में व्यनि पंनि में बैठे हैं। उि सभी का मखु उत्तर की ओर ह।ै Q, S के दायें

से छठे स्थाि पर बैठता ह।ै T, Q के बायें से आगे बैठता ह।ै Q और P के बीच केवल दो व्यनि 

बैठते हैं। R, S के बायीं ओर बैठता ह।ै U, S और T के बीच बैठता ह।ै V, U के दायें से दसूरे 

स्थाि पर बैठता ह।ै W नकसी भी छोर से तीसरे स्थाि पर ह।ै S पंनि के बाए ंछोर से आठवां ह।ै 

W और V के मध्य छह व्यनि बैठे हैं।
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A certain number of persons are sitting in the row. All of them are facing 

towards north. Q sits sixth from the right of S. T sits forth to left of Q. Only 

two persons sit between Q and P. R sits forth to the left of S. U sits between 

S and T. V sits second to the right of U. W is third from any of the end. S is 

eight from the left end of the row. Six persons sit between W and V.
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3 9 1 8 1 2 5 8 6 3 6 4 2 5 2 8 5 2 6 4 5 1 4 9 4 7 3 2 7 2 5 9 

How many 2’s is there in the above arrangement, each of which is 

immediately preceded by a digit which has a numerical value of more 

than 5? 

उपरोि व्यवस्था में नकतिे 2 हैं, नििमें से प्रत्येक के ठीक पहले एक अंक ह ैनिसका 

संख्यात्मक माि 5 से अनिक ह?ै 

(a) None (b) One (c) Two (d) Three (e) More than three
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3 9 1 8 1 2 5 8 6 3 6 4 2 5 2 8 5 2 6 4 5 1 4 9 4 7 3 2 7 2 5 9

Which of the following number is seventh to the left of the 

twentieth from the left end of the above arrangement? 

निम्िनलनखत में से कौि सी संख्या उपरोि व्यवस्था में बाए ंछोर से बीसवीं के 

बाए ंसे सातवीं ह?ै

(a) 3 (b) 9 (c) 2 (d) 7 (e) 1



IBPS / BANK / LIC / SBI at 9:00 AM

3 9 1 8 1 2 5 8 6 3 6 4 2 5 2 8 5 2 6 4 5 1 4 9 4 7 3 2 7 2 5 9

If all the even digits are removed from the above arrangements then, 

which of the following digit will be tenth from the right end of the 

arrangement? 

यनद उपरोि व्यवस्था से सभी सम अंकों को हटा नदया िाता ह,ै तो निम्िनलनखत में से 

कौि सा अंक व्यवस्था के दायें अंत से दसवां होगा?

(a) 9 (b) 5 (c) 1 (d) 3 (e) 7
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3 9 1 8 1 2 5 8 6 3 6 4 2 5 2 8 5 2 6 4 5 1 4 9 4 7 3 2 7 2 5 9

How many such 1’s is there in the above arrangement, each of which is 

immediately followed by a perfect square? 

उपरोि व्यवस्था में ऐसे नकतिे 1 हैं, नििमें से प्रत्येक के तरंुत बाद एक पू् ण  वगण  ह?ै

(a) None (b) One (c) Two (d) Three (e) More than three
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In the word ‘BACKGROUND’ all consonants are written as their preceding letter and 

all vowels are written as their following letters. Then, how many letters repeated in the 

new arrangement? 

‘BACKGROUND’ शब्द में सभी व्यंििों को उिके पवूण वती अक्षर के रूप में नलखा गया ह ैऔर सभी 

स्वरों को उिके बाद के अक्षरों के रूप में नलखा गया ह।ै तो, िई व्यवस्था में नकतिे अक्षर दोहराए गए?

(a) One (b) Two (c) Four (d) Three (e) More than four
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How many pairs of letters are there in the word “CHRISTMAS” which has 

as many letters between them as we have in the English alphabetical series 

(from both forward and backward direction)? 

शब्द “CHRISTMAS” में अक्षरों के ऐसे नकतिे िोडे हैं नििके बीच उतिे ही अक्षर हैं नितिे 

हमारे पास अगं्रेिी व्ण माला श्रखंला (आगे और पीछे दोिों नदशाओ ंसे) में हैं?

(a) Three (b) One (c) Two (d) None (e) More than three
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In the Given number ‘843576529’ How many such numerals will remain at 

the same position, when arranged in ascending order from left to right? 

दी गई संख्या '843576529' में बाए ंसे दाए ंबढ़ते क्रम में व्यवनस्थत करिे पर ऐसे नकतिे अकं 

उसी स्थाि पर रहेंगे?

(a) More than Four (b) Four (c) Two (d) Three (e) One
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Statements: 

F > R ≥ T = E > W ≤ Q 

Conclusions: 

I. E < F 

II. Q ≥ T 
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Statements: 

K > I ≥ G > F ≤ T < R 

Conclusions: 

I. K > T 

II. R > F 
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Statements: 

W = G ≥ H ≥ T = C ≤ V ≤ B 

Conclusions: 

I. T < G 

II. C = G
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Statement: 

T > R < O > F > L < E 

Conclusion: 

I. O > L 

II.R > E
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Statement:   

H ≤ G ≤ J ≥ L >A >Q = Y < R

Conclusions: 

I. J > Q

II.     Q < R 
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Statements:  

F < H ≤ L < J ≤ S < A 

Conclusions: 

I. S > F 

II. A < H
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Statements: 

K < G ≤ D < C > R ≤ Y 

Conclusions: 

I. C > G 

II. K < D
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In a Certain code MASTER is written as 36 ,than find the code for 

MOTHER ?

एक निनित कोड में MASTER का कोड 36 निखा गया है तो MOTHER का कोड

क्या होगा ?

(1) 256

(2) 625

(3) 400

(4) 196

(5) None of these
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In a Certain code HOSTEL is written as 24 ,than find the code for 

BOOK ?

एक निनित कोड में HOSTEL का कोड 24 निखा गया है तो BOOK का कोड क्या

होगा ?

(1) 2

(2) 13

(3) 10

(4) 19

(5) None of these
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Statements: 

Only a few Photo are Video. 

Only a few Frame are Video. 

All Frame are Camera. 

Conclusions: 

I. All Photo being Frame is a 

possibility. 

II. Some Photo are not Camera. 

कथि: 

केवल कुछ फोटो वीनियो हैं।

केवल कुछ फे्रम वीनियो हैं।

सभी फे्रम कैमरा हैं। 

निष्कर्ण : 

सभी फोटो के फे्रम होिे की संभाविा ह।ै 

कुछ फोटो कैमरा िहीं हैं.
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Statements: 

Only a few Photo are Video. 

Only a few Frame are Video. 

All Frame are Camera. 

Conclusions: 

I. All Photo being Frame is a 

possibility. 

II. Some Photo are not Camera. 
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Statements: 

Only a few City are Town. 

No Town is Village. 

All Village are Block. 

Conclusions:

I. All City can be Village. 

II. Some Block are not Town. 

कथि: 

केवल कुछ नसटी टाउि हैं। 

कोई टाउि नवलेि िहीं ह.ै 

सभी नवलेि ब्लॉक हैं. 

निष्कर्ण : 

I. सभी नसटी नवलेि हो सकते हैं। 

II. कुछ ब्लॉक टाउि िहीं हैं।
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Statements: 

Only a few City are Town. 

No Town is Village. 

All Village are Block. 

Conclusions:

I. All City can be Village. 

II. Some Block are not Town. 
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Statements: 

Some Bird are not Eagle. 

Some Eagle are Parrot. 

Conclusions: 

I. Some Parrot are Bird. 

II. No Parrot is Bird. 

कथि: 

कुछ बिण  ईगल िहीं हैं. 

कुछ ईगल तोते हैं। 

निष्कर्ण : 

कुछ पैरेट बिण  हैं. 

कोई पैरेट बिण  िहीं ह.ै
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Statements: 

Some Bird are not Eagle. 

Some Eagle are Parrot. 

Conclusions: 

I. Some Parrot are Bird. 

II. No Parrot is Bird. 



IBPS / BANK / LIC / SBI at 9:00 AM

Statements: 

Only Banana is Apple. 

Some Banana are Papaya. 

Conclusions: 

I. Some Apple being Papaya is 

a possibility. 

II. All Banana can be Apple.

कथि: 

केवल केला सेब ह।ै 

कुछ केले पपीते हैं। 

निष्कर्ण : 

कुछ सेब के पपीता होिे की 

संभाविा ह।ै 

सभी केले सेब हो सकते हैं।



IBPS / BANK / LIC / SBI at 9:00 AM

Statements: 

Only Banana is Apple. 

Some Banana are Papaya. 

Conclusions: 

I. Some Apple being Papaya is 

a possibility. 

II. All Banana can be Apple.
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Eight persons D, E, F, G, M, O, P and S purchase some products one after 

another but not necessarily in the same order. At most two persons purchase 

before F. Only one-person purchase between D and F. P purchase just before 

S. One-person purchase between P and D. M purchase just before E. O 

purchase before G and after E. S purchased in last.

आठ व्यनि D, E, F, G, M, O, P और S एक के बाद एक कुछ उत्पाद खरीदते हैं लेनकि 

िरूरी िहीं नक इसी क्रम में हों। अनिकतम दो व्यनि F से पहल ेखरीदारी करते हैं। केवल एक 

व्यनि D और F के बीच खरीदारी करता ह।ै P, S से ठीक पहले खरीदारी करता ह।ै P और D के 

बीच एक व्यनि खरीदारी करता ह।ै M, E से ठीक पहले खरीदारी करता ह।ै O, G से पहले और 

E के बाद खरीदारी करता ह।ै S ने आखिरी में िरीदा।
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Eight persons D, E, F, G, M, O, P and S purchase some products one after 

another but not necessarily in the same order. At most two persons purchase 

before F. Only one-person purchase between D and F. P purchase just before 

S. One-person purchase between P and D. M purchase just before E. O 

purchase before G and after E. S purchased in last.
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Eight boxes are placed one above the another. Only two boxes are placed 

between box U and T. Only one box is placed between box T and R. Only 

two boxes are placed between box R and V. Box V is placed below box R. 

Three boxes are placed between S and Q, both S and Q are placed above box 

T. Box W is placed below box V. Not more than one box is placed between 

box S and box P. S lives on top . R lives immediate above Q.

आठ निब्बे एक के ऊपर एक करके रखे गए हैं। बॉक्स U और T के बीच केवल दो बॉक्स रखे 

गए हैं। बॉक्स T और R के बीच केवल एक बॉक्स रखा गया ह।ै बॉक्स R और V के बीच केवल 

दो बॉक्स रखे गए हैं। बॉक्स V, बॉक्स R के िीच ेरखा गया ह।ै S और Q के बीच तीि बॉक्स रखे 

गए हैं। S और Q दोिों को बॉक्स T के ऊपर रखा गया ह।ै बॉक्स W को बॉक्स V के िीच ेरखा 

गया ह।ै बॉक्स S और बॉक्स P के बीच एक से अनिक बॉक्स िहीं रखे गए हैं। S शीर्ष पर रहता 
है। R, Q के तुरंत ऊपर रहता है।
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Eight boxes are placed one above the 

another. Only two boxes are placed 

between box U and T. Only one box is 

placed between box T and R. Only two 

boxes are placed between box R and V. 

Box V is placed below box R. Three 

boxes are placed between S and Q, both 

S and Q are placed above box T. Box 

W is placed below box V. Not more 

than one box is placed between box S 

and box P. S lives on top . R lives 

immediate above Q.



IBPS / BANK / LIC / SBI at 9:00 AM

Eight persons A, B, C, D, E, F, G and H are sitting on a circular table facing the centre

of the table but not necessarily in the same order. H and F are facing each other. H and 

A are not immediate neighbours of each other. C is not immediate neighbour of H. 

Two persons sit between A and G. B sits immediate left of G. Two persons sit between 

B and E. One person sits between A and D. D and G are not immediate neighbours of 

each other.

आठ व्यनि अथाण त ्A, B, C, D, E, F, G और H एक वरत्ताकार मेि के चारो ओर कें द्र की ओर उन्मखु 

होकर बैठे हैं लेनकि आवश्यक िहीं नक समाि क्रम में हों। H और F एक दसूरे की ओर उन्मखु हैं। H और A 

एक दसूरे के निकटतम पडोसी िहीं ह।ै C, H का एक निकटतम पडोसी िहीं ह।ै A और G के बीच दो व्यनि 

बैठे हैं। B, G के ठीक बायीं ओर बैठा ह।ै B और E के बीच दो व्यनि बैठे हैं। A और D के बीच एक व्यनि 

बैठा ह।ै D और G एक दसूरे के निकटतम पडोसी िहीं ह।ै
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Eight persons A, B, C, D, E, F, G and H are sitting on a circular table facing the centre

of the table but not necessarily in the same order. H and F are facing each other. H and 

A are not immediate neighbours of each other. C is not immediate neighbour of H. Two 

persons sit between A and G. B sits immediate left of G. Two persons sit between B 

and E. One person sits between A and D. D and G are not immediate neighbours of 

each other.
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Six persons are arranged according to their weight in descending order from left to right. E is not 

the heaviest among all. A is heavier than F and C. F is heavier than B and D but not heavier than E. 

B and C are not the lightest among all. A is not just heavier than F. E is heavier than C, who is not 

the 3rd heaviest among all. Weight of the 2nd lightest person is 17kg. Total weight of B and C is 

44kg. 2nd heaviest person is twice heavy to the one who is 2nd lightest. C is just lighter than F. 

Total weight of all the persons are 150kg. 

छह व्यनियों को उिके विि के अिसुार बाए ंसे दाए ंअवरोही क्रम में व्यवनस्थत नकया गया ह।ै E सबसे भारी िहीं ह।ै A, F 

और C से भारी ह।ै F, B और D से भारी ह ैलेनकि E से भारी िहीं ह।ै B और C सबसे हल्के िहीं हैं। A, F से केवल भारी 

िहीं ह।ै E, C से भारी ह,ै िो सभी में तीसरा सबसे भारी िहीं ह।ै दसूरे सबसे हल्के व्यनि का भार 17 नकग्रा ह।ै B और C का

कुल विि 44 नकग्रा ह।ै दसूरा सबसे भारी व्यनि दसूरे सबसे हल्के व्यनि से दोगिुा भारी ह।ै C, F से ठीक हल्का ह।ै सभी 

व्यनियों का कुल विि 150 नकग्रा ह।ै

What may be the possible weight of F? / F का संभानवत भार क्या हो सकता ह?ै

(a) 30kg (b) 38kg (c) 24kg (d) 25kg (e) None of these
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Six persons are arranged according to their weight in descending order from left to right. E is not 

the heaviest among all. A is heavier than F and C. F is heavier than B and D but not heavier than E. 

B and C are not the lightest among all. A is not just heavier than F. E is heavier than C, who is not 

the 3rd heaviest among all. Weight of the 2nd lightest person is 17kg. Total weight of B and C is 

44kg. 2nd heaviest person is twice heavy to the one who is 2nd lightest. C is just lighter than F. 

Total weight of all the persons are 150kg. 
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Eight persons A, B, C, D, E, F, G and H are sitting in a horizontal row. Four of them 

are facing north while the rest are facing south. G is the third person from one of the 

extreme ends. Two people sitting at extreme ends face in the same direction. Three 

people sit between B and C. Neighbours of D face in the same direction but opposite 

to D. Neither C nor D sit at the extreme end. E sits to the left of H, who sits adjacent 

to neither A nor F. B sits adjacent to G and faces south. E does not sit adjacent to F. A 

and F are second to the left of each other.

आठ व्यनि A, B, C, D, E, F, G और H एक कै्षनति पंनि में बैठे हैं। उिमें से चार का मखु उत्तर की 

ओर ह ैिबनक शेर् का मखु दनक्ष् की ओर ह।ै G नकसी एक अंनतम छोर से तीसरा व्यनि ह।ै अंनतम छोर 

पर बैठे दो व्यनियों का मखु समाि नदशा की ओर ह।ै B और C के मध्य तीि व्यनि बैठे हैं। D के पडोनसयों 

का मखु समाि नदशा में ह ैलेनकि D के नवपरीत ह।ै ि तो C ि ही D अंनतम छोर पर बैठे हैं। E, H के बायें 

बैठा ह,ै िो ि तो A और ि ही F के आसन्ि बैठा ह।ै B, G के निकट बैठा ह ैऔर उसका मखु दनक्ष् की 

ओर ह।ै E, F के आस-पास िहीं बैठा ह।ै A और F एक दसूरे के बायें से दसूरे स्थाि पर हैं
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Eight persons A, B, C, D, E, F, G and H are sitting in a horizontal row. Four of them 

are facing north while the rest are facing south. G is the third person from one of the 

extreme ends. Two people sitting at extreme ends face in the same direction. Three 

people sit between B and C. Neighbours of D face in the same direction but opposite 

to D. Neither C nor D sit at the extreme end. E sits to the left of H, who sits adjacent 

to neither A nor F. B sits adjacent to G and faces south. E does not sit adjacent to F. A 

and F are second to the left of each other.
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